iz6 :
NI @EAL 80 A S
2EENXTRE '7
(LB -VSErH3E) 2F 4

| 12158 $#5%2028-> 7. 1000M%HFT rH2Y IZEAATT 5,

<HEBEIR—Z2>

3\ -

U}
Ps\/

2 130N —%¥rI0ANY 2 —RH, £y FTE-TWET,
FH—%¥Ya21—213ty FpOREIIFAETTH,

<HEBEIR—Z2>

I\ -

u}
Psll

o e BITBTERYAY



,, Bich . A =]

N DEIT B
2EFENXERE
(LB -VSErH3E) 2F 4

| 12158 $#5%2028-> 7. 1000M%HFT rH2Y IZEAATT 5,

<FAEIR—2Z2>

A |5x20 = 300 | 5
X 20

|000 — 300 =700 300
0 0 0

_ - 300

z2: 700 H 00

2 130N —%¥rI0ANY 2 —RH, £y FTE-TWET,
FH—%¥Ya21—213ty FpOREIIFAETTH,

<FHEIAR—Z>
2: 130+90 = 220 130
+ 90
220 x 13 = 2860 7720
2 20
X |3
%4 : 2860F] 2220
2 8 6
@ EE BX z ?gg@jkz



